NUMERIC PALINDROME SOLUTION

namespace NumericPalindrome a0 Cenarate Numeric P IE

public partial class NumericPalindromeForm : Form |

: 5182815 |

Starting with the random integer 603285, it took 3
teration(s) of the algorthm to produce the numeric

public NumericPalindromeForm() palindrome.

{
InitializeComponent();
} P ( ) ’ Click to Generate a Random Numeric Palindrome

Random randomNumberGenerator = new Random();

private string reverseString(string s)
{ o Generate NumericP.. = O
string reversedS = "";

22?2722 |
for (int i = s.Length - 1; i >= 0; i--)
{ Starting with the random integer 370458, no
- : : . palindrome was produced after 20 iterations of the
reversedS = reversedS + s.Substring(i, 1); i T bt ehis ook e o
} //end for 1819426282623927

return reversedS;
}//end method

Click to Generate a Random Mumeric Palindrome

//Event handler for button
private void generateNumericPalindromeButton_Click(object sender, EventArgs e)

{
long initialRandomInt = randomNumberGenerator.Next(10, 999999); //Random integer from 10 to 999999
long sum, iterations = @, num = initialRandomInt;

do
{

sum = num + Convert.ToInt64(reverseString(num.ToString())); //Add "num" to "num" reversed
num = sum; //Why is this statement necessary?
++iterations;

} while (iterations <= 20 && sum != Convert.ToInt64(reverseString(sum.ToString())));

if (sum == Convert.ToInt64(reverseString(sum.ToString())))

{

palindromelLabel.Text = sum.ToString();

messagelabel.Text = "Starting with the random integer " + initialRandomInt + ", it took " +

iterations + " iteration(s) of the algorithm to produce the numeric palindrome.";

}
else
{

palindromeLabel.Text = "??????";

messagelLabel.Text = "Starting with the random integer " + initialRandomInt +

", no palindrome was produced after 20 iterations of the algorithm."
+"The last value produced was " +sum +".";

}

} //end method
}//end class

}//end namespace
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